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qg 59w § 18 R ad g s |

In case there is any discrepancy in any question(s) in the Question Booklet, the same may be
brought to the notice of the Controller of Examinations in writing within two hours after the test is
over. No such compalint(s) will be entertained thereafter.

gfe ye-ua A & g @ wefud @1 e & @ 9w ar A fofeaa g/ Riema oden aara 2R @
A TR B FR—2, T FFd A YA # g A | §9 Iw G 5 ) g / Riwrad w sriad 78 @nft
The candidates MUST return the complete question book-let and the OMR Answer-Sheet
to the Invigilator concerned before leaving the Examination Hall, failing which a case of use of
unfair means/misbehaviour will be registered against him/her, in addition to lodging of an FIR with the
police. Further the answer-sheet of such candidate will not be evaluated.

oz Bt Bre 9 qd 1 apgeftror gl gt ge—uf3aT 9 sfle THo 3Re ITR-uF wEle Adgd 3 daw & Wy |
AT BT fA%g FTHAR ARG / RATER BT B G141 AT AR A1 & 37 favg 7o § yho 3o 3Ro A
forgard oot | Ox) B9 H 99 apgefl B IIR-—uz @) Wra N & evard wngd |

The candidates MUST NOT do any rough work or writing in the OMR Answer-Sheet. Rough wark,
if any, may be done in the question book-let itself.

3pgefiToT 3o Ho IRo IR UF R HIg 6 &1d 9 & | Bad WeA-UH1 § £ 76 S Y|

There will be negative marking. For every wrong answer % mark will be deducted. In case you are
not sure of answer or do not want to attempt any question, leave the space blank under the concerned
Question No. in the OMR Answer-Sheet. Cutting, erasing, overwriting and mare than one answer in
the OMR Answer-Sheet will be treated as wrong answer.

APRIGTH ATHA BT | U ol Io) @ (o1 Y4 (aherd) 3i &9 & a1 S | af 3y 98 S @ anr ¥ avawd
8 & 1 fHN e &1 IR FE 21 98 A ITR-UF & AT @A B @il BYS 2 | 3o THo N0 ITR-UF ¥
Fre—de, e ok tF & sfre SR TEd A e | ,@K/ ey AL
Use only blue of black ball point pen in the OMR Anwer-Sheet. ey ‘\\G‘\-

3o YHo IHRo IUX—UA UR Badel A AT BT Ufg< 47 &1 & g & |

Cor

(IPRRRRRRRRREEE |



Code-B
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1. | E-mail address separates the username from the ISP using the ...........
symbol :
(1) & (2 @
3 % 4) *
$-39 g ARTEd @ IEEA B AH B e F B AT FA L
1) & (2) @
3) % 4) *
2. | Before a disk can be used to store data, it must be :
(1) formatted (2) reformatted
(3) addressed (4) none of the above
@ 97 2fer € &7 4 G, B & ............ AT @I
(1) wfife (2) Refie
(3) wgw (4) 90 | & B ot 7
3. | When you put on the computer in morning it is called :
(1) hot boot (2) cold boot
(3) warm boot (4) none of these
79 FG F Y9 on Fr AR, @ Fe ... FEAT ¢
(1) #egE (2) AW T
3) am g (4) IR # & 1 F 78
4. | Exploring the world wide web is called :
(1) Net surfing (2) Internet explorer
(3) Netnavigation (4) Netscape Navigator
aee a1%% 39 B explore O P FI F& T & ¢
(1) Net surfing (2) Internet explorer
(3) Netnavigation (4) Netscape Navigator
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5. | The first part of a complete URL is the ........ needed to access the web
resource :
(1) address (2) name
(3) location (4) protocol
gt URL &1 9eall 91 @8 ......... B B, 9 39 HEEA B ST FA % o =@
(1) g (2) ™
(3) =@M (4) S
6. | Simplify the following.
15-11x14+7-(-7)=?
(1) 4 (2) 14
3) 0 (4) 15
=1 3 s )
15-11x14+7-(-7)="?
(1) 44 (2) 14
3 0 4) 15
7. | Complete the series.
4,16, 21, 5, 20, 25, 6, 24 ——.
(1) 29 (2) 30
(3) 18 4) 7
el B YA B |
4,16, 21, 5, 20, 25, 6, 24 ——.
(1) 29 (2) 30
(3) 18 4) 7
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8. | Complete the analogy.
Tractor : Trailor : : Horse : ?
(1) Stable (2) Saddle
(3) Cart (4) Engine
aE B YU B
JFET T e ?
(1) e (2) F@
(3) " (4) &

9. | Choose the analogous to
Butter : Milk
(1) Pencil : Lead (2) Class : Student
(3) Jaggery : Sugarcane (4) Author : Book
T g
YR : gH
(1) afas @ [ (2) @& - et
(3) T : T (4) ohaF : FEah

10. | A room is to be painted completely from inside at the rate of Rs. 20 per
square feet including door and windows. Its dimensions are 15 feet in length,
12 feet in width and 11 feet in height. What will be the total cost
of painting ?
(1) Rs.11880 (2) Rs. 15480
(3) Rs. 19080 (4) Rs. 27360
T FAL I aar odn feehedl afd o= @ ot e T s @ Rt @ 20 5. of o
%2 31 P 15 g2 o, 12 G2 A ad 11 G A H 21 FEm § 9 P @d
T ?
(1) 11880 3. (2) 15480 %.
(3) 19080 ®: (4) 27360 .

CJDEOT-2012/SET-Y (3)
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11. | Who was the first woman to become the Chief Minister of a State in

India ?

(1) Sarojini Naidu (2) Sucheta Kriplani

(3) Vijai Lakshmi Pandit (4) Rajkumari Amrit Kaur
I 3 Rl U A ger v 999 A wew AR 6@ ?

12.

(1) wARR g (2) goa Hua

(3) o wwft dfea (4) T T B
Raman Singh is the Chief Minister of ...................
(1) Chhattisgarh (2) Tripura

(3) Jharkhand (4) Madhya Pradesh
o S 3 g& wAl ¢

(1) saiaTe (2) Bgu

(3) wEs (4) 99 =9

13.

What is the total number of nationalized banks in India ?

(1) 21 (2) 20
(3) 14 (4) 6
AT 7 Ui d9 B F9 e R 8 7

(1) 21 (2) 20
(3) 14 (4) 6

14.

Which state among the following has the highest literacy rate ?

(1) Goa (2) Maharashtra
(3) Himachal Pradesh (4) Mizoram
= § § e T 3 ARl 5T §aiivs & 7 |

(1) (2) wersg

(3) PwrEa wew (4) P

CJDEOT-2012/SET-Y (4)
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15. | Who did ransack Somnath temple in 1026 AD ?
(1) Mohammad BinQasim  (2) Mahmud of Ghazni
(3) Mohammad Ghori (4) Genghis Khan
89 1026 # @ "=y i R T B 7
(1) FesE [T HRE (2) #EgR Tt
(3) Hreww M (4) = @™

16. | Prfafa o=t & @ g& o= g
(1) mgasrn (2) smasn
(3) smmEem (4) smmEEn

17. | Pl o= ot & @ @9-1 g9 i & “RNar’ = & wEiErEt @7

(1) @, o, Seaad
(2) RRwR, drqeare!, s
(3) e, IUgH, i
(4) wmEE, sEead, Radda

18.

e o=l & @ ‘9 9= 3 Rodarfs 9= 1 99 Fiv)
(1) s
(2) witar
(3) wedrt
(4) wrard

19.

i1 Ru 7T ar & R =M @ 3 g @@ R g
........... F AW A B AR R & 59|

(1) FRafy (2) Faf

(3) gl (4) e

CJDEOT-2012/SET-Y (5)
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20. | Fr=fofaa ar ¥ Red @9 w63 3G w8 Rewg & 999 #itn )
H T TER . 2
(1) 5= (2) o4
(3) e (4) FwE
21. | One of the following sentences is correct, while the rest three have some

“
error(s). Select the correct sentence.

(1) Walk carefully lest you fall down

(2) Walk carefully lest you may fall down
(3) Walk carefully lest you are fallen down
(4) Walk carefully lest you should fall down

22.

The following sentence has an error in one of'its part. The number assigned
to the part is the answer. Ignore the errors of punctuation, if any. Mark

the correct answer.

As the Prime Minister of India, Jawaharlal Nehru was known by all types
of people in the World

(1) Asthe Prime Minister of India
(2) Jawaharlal Nehru

(3) Was known by all types

(4) of people in the World

CJDEOT-2012/SET-Y (6)
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23. | Select the correct option reflecting correct meaning of the word “Baffle”.
(1) Fear (2) Puzzle
(3) Clarify (4) Enlighten

24. | Select the option which is a synonym of the word “Torment”.
| (1) Comfort

(2) Respect

(3) Torture

(4) None of the above

"

25. | Select the option having meaning similar to the word “Abandon”.
(1) Renounce (2) Retain
(3) Maintain (4) Capture

26. | To print the PowerPoint presentation, press

(1) Ctrl+T - (2) Ctrl+ E
(3) Ctrl+S (4) Ctrl+ P
PowerPoint ¥5eyw # ffz 3 3 3 =1 & & 3 a9 ?
(1) Ctrl+T (2) Ctrl+ E
(3) Ctrl+S (4) Ctrl+ P

27. | Which key do you press to check spelling ?

(1) F3 (2) F5
3) F7 4) F9
Spelling ¥% 1 & fd fr=1 § & F19-9 ¥t 2 & ?
(1) F3 (2) F5
(3) F7 (4) F9

CJDEOT-2012/SET-Y (7)



Code-B

estion| :
Ft'“No‘. Questions

28. | The Paste Special command lets you copy and paste :

(1) Multiply the selection by a copied value

(2) Cell comments

(3) Formatting options

(4) The resulting values of a formula instead of the actual formula
Paste Special #4iz f=1 & & & Copy td Paste &t &

(1) us Frdt % g value & selection H TN Fxa 2

(2) Cell comments

(3) Formatting %

(4) arafe® wEd # F9F w4 el values

29. | To delete an embedded object, first

(1) Double click the object

(2) Select the object by clicking it

(3) Press the Shift + Delete keys

(4) Select it and then press the delete key
Embedded st i delete 0 3 ol wdt o191 #3a ¥
(1) Object # zaa RF® F

(2) Object F s F1@ AT FT

(3) Shift + Delete =1faat # zar

(4) & 38 AT FX AR BT delete Tt zardt

CJDEOT-2012/SET-Y (8)
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30.

Tab scrolling button

(1) Allows you to view a different worksheet

(2) - Allows you to view additional worksheet rows down

(3) Allows you to view additional worksheet columns to the right
(4) Allows you to view additional sheets tabs

¥ whferT qe et & § o wa ®

(1) % 3 Fadfie # @ 3 B waw G @

(2) additional 3%z rows down # 3@+ % frdt @ g @

(3) additional g#sfie columns to the right # 2@3 & @ @em &= 2
(4) Additional sheets tabs # 3@+ % 73 @& a9 &

31.

To move the cursor page to page of document

(1) Ctrl+PgDn (2) Ctrl + PgUp
(3) Both of above (4) None of above
e § 0% U9 & qEt 99 W cursor H A TN & @ fr= F &/ Fi-A1 wE A ® -
(1) Ctrl+PgDn (2) Ctrl +PgUp
(3) T ar At (4) T F 9 T

32.

Which of the following is used to create news paper style columns ?
(1) Format Tabs (2) Table Insert Table

(3) Insert Textbox (4) Format Columns

frsr & & S/EeR ®ET 3 column s9F 3 T $9-a1 ggnr F arn A & ?

(1) Format Tabs (2) Table Insert Table

(3) Insert Textbox (4) Format Columns

CJDEOT-2012/SET-Y (9)
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33. | Toinsert a drop cap in one of the paragraph you should access
(1) Insert Menu (2) Format
(3) Tools (4) None of above
et 3uars # drop cap IR @ A B 8 8 oF-a 59 o0 oy ?
(1) Insert Menu (2) Format
(3) Tools (4) s9iea ¥ 8 93 @

34. | What is the shortcut key to Close Active Document in MS word ?
(1) Ctrl+F4 (2) Shift + F4
(3) Ctrl + Shift + F4 (4) None of above
MS Word # tf¥eg sw@@9 @ 4% #34 & fd Shortcut & $9-81 &1 & ?
(1) Ctrl+F4 (2) Shift + F4
(3) Ctrl + Shift + F4 (4) IR ¥ § P15 78

35. | What is the shortcut key to “Insert Hyperlink” in a document ?
(1) Ctrl+H (2) Ctrl+ L
(3) Ctrl+K (4) None of above
o Z&aw § “Insert Hyperlink” & @ Shorteut =t #i=-dt a6t 8 7
(1) Cirl+H (2) Ctrl+L
(3) Ctrl+K (4) 390w & | ¥ 8

36. | Some set rules and regulations while working :)n internet is called :
(1) Protocol (2) Internet
(3) Intranet (4) WWW
Internet W &M F % & Fraq o Rt & 3 (Set) #r F4r Fer o 2
(1) Protocol (2) Internet
(3) Intranet (4) WWW

CJDEOT-2012/SET-Y (10)
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37. | Video-conferencing is used for :
(1) talking to each other (2) communication purpose
(3) live conversation (4) none
fafear @RI & gudn Reafag R o 2
(1) e & 99 1 & o (2) d=rw % fou
(8) ®eg AE & fow (4) I0F | ¥ FE T8
38. | VDUisa
(1) Inputunit (2) Output unit
(3) Processing unit (4) Storage unit
VDU &8 5&r #t Device # :
(1) 3ge 358 (2) MIege T
(3) AR 3 (4) = @
39. | What does optic fibre use to transmit data :
(1) vibrations (2) sound
(3) electric current (4) light
Optic Fibre # fer garwr 3 o Rews wdrn @ 2 ¢
(1) 3w (2) ==
(3) foga ur (4) "9
40. | What is Binary equivalent of 23 :
(1) 1010 (2) 1101
(3) 10111 (4) 10101
gy T 23 @ @l equivalent #41  ¢
(1) 1010 (2) 1101
(3) 10111 (4) 10101

CJDEOT-2012/SET-Y (11)
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41.

In satellite based communication VSAT stands for :

(1) very small aperture terminal
(2) varying size aperture terminal
(3) verysmall analog terminal

(4) none of above

IurE amiita Her & VSAT & #ae@ @
(1) very small aperture terminal
(2) varying size aperture terminal
(3) verysmall analog terminal

(4) ST F & F§ A @

42.

The word length of a computer is measured in :
(1) Bytes (2) mm

(3) m (4) Bits

FYeT # =& s e # Bewd Al oo @

(1) eEgH (2) Rt

(3) #=x (4) fom

43.

What type of device is computer keyboard :
(1) Memory (2) Output
(3) Storage (4) Input
FG H A2 W THR F device ¢

(1) Memory (2) Output
(3) Storage (4) Input

CJDEOT-2012/SET-Y (12)
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44. | Softwares such as explorer and firefox are referred to as
(1) System Software (2) Utility Software
(3) Browsers (4) Internet tools
diFedat 38 [ explorer wd firefox #41 F&aid € :
(1) Rew dfweaat (2) g dweaat
(3) wwH (4) T T

45. | The time elapsed between the initiation of a memory operation and the
completion of operation is known as :
(1) memory cycle time {(2) memory access time
(3) transfer time (4) skip time
B memory operation ¥ J&T & AT oid BN F A1 P GHG FT P & -
(1) memory cycle time (2) memory access time
(3) transfer time (4) skip time

46. | A hawker from a point walks 7 km Eastward to turn left and walks 6 km.
From there he moves Southward 7 km to turn right and stops after walking
7 km. How far and in which direction is he now ?
(1) 8km, East (2) 13 km, North
(3) 1km, West (4) 1km, South
T g @ W § 7 B W@ A AR O w5 ad gz o ® v 6 R wean B
781 & =R # R 7 R, o ¥ aw e g3 0 7 BN, 9 o% onen B 9% oW wihve
AR g R Rw AR ?
(1) 8/ d. @ (2) 13 Bt sax
(3) 1 . diggw (4) 1 A, Ry

CJDEOT-2012/SET-Y (13)
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47.

Which diagram represents ?
Father (F), Mother (M), Child (C)

o (WD) OO
3) @ (4)@

H-a1 o s T & 7
e (F), smr (M), s@s (C)

NacoIelolo
®) @ (4)@

Choose the odd one

(1) Geometry (2) Algebra

(3) Arithmetic (4) Mathematics
T

(1) = - _ (2) greriire

@) s @) T

CJDEOT-2012/SET-Y (14)
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49,

What is equal to

0.9 x0.01 x 0.03
=?

0.27
(1) 0.01 (2) 0.001 (3) 0.10 (4) 0.0001
& IqET 71 8

0.9 x0.01 x0.03
=?

0.27
(1) 0.01 (2) 0.001 (3) 0.10 (4) 0.0001

50.

Find one number from the given alternatives which can fill both question

marked spaces :

51.

veas _
? 16
(1) 5 (2) 4 (3) 256 (4) 20
Ru o Redl # & 06 den g ot A g Rifed @l # a6
es _ 2
? 16
(1) 5 (2) 4 (3) 256 (4) 20
To open the existing presentation, press
(1) Ctrl+L (2) Ctrl+ N
(3) Ctrl+A (4) Ctrl+ 0O
Existing J9=e= # @ 3 /il .............. g |
(1) Ctrl+L (2 Ctrl+N
(3) Ctri+A ' (4) Ctrl+ 0O

CJDEOT-2012/SET-Y (15)
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52. | After choosing a predefined template, which option has to be chosen to
change the background color ?
(1) Design Template (2) Color Scheme
(3) Animation Scheme (4) Color Effects
% predefined 9z # 94 3 &, Fr § & FH-71 f%Fw9 background color #
oo 3 3w B ® 7
(1) Design Template (2) Color Scheme
(3) Animation Scheme (4) Color Effects

53. | How can the slide show be repeated continuously ?
(1) loop continuously until ‘Esc’
(2) repeat continuously
(3) loop more
(4) none
Slide show # = & & % Zr0 @G repeat a1 &1 THar & ?
(1) loop continuously until ‘Esc’
(2) repeat continuously
(3) loop more
(4) ST # & 8 T8

54. | In PowerPoint, when the mouse pointer appears as .............. this it indicates
that Draw Table feature is on
(1) Solid plus sign (2) Solid arrow
(3) I-beam (4) Pencil
PowerPoint ¥ mouse pointer = & & .............. fewrg 3ar 8 ot % 9% qam ®
Draw Table %< on 2|
(1) Solid plus sign (2) Solid arrow
(3) I-beam (4) Pencil

CJDEOT-2012/SET-Y (16)
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55.

What do you do to start the slide show ?

(1) Click on Go

(2) Turnon transition

(3) Click on the slide show icon

(4) All of the above

Slide show # & & & @ A9 1 F1d € 7

(1) Go # Click #? (2) Transition # turn on &
(3) Slide show # & &t (4) I At /A

56.

Select the correct form of the verb from the options to fill in the blank in

the following sentence
Did you think, you ............... me somewhere before
(1) had seen (2) have seen

(3) were seeing (4) saw

57.

Select the correct option to fit in the blanks in the following para.

The mountaineer was a bit .......... ashewas ............. cutting steps to reach
the top of the hill. He was still moving up ..............

(1) tired, continuously, carelessly

(2) energetic, continuously, aimlessly

(3) tired, continuously, carefully

(4) tried, continuously, carefully

CJDEOT-2012/SET-Y (17)
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61. | A feature of MS Word that saves the document automatically after certain
interval is available on
(1) Save tab on Options dialog box
(2) Save As dialog box "
(3) Both of above
(4) None of above
TS 3 ffdea 99 3 9% @4 save #19 aren MS Word #1 feature = 5 & 5@ 9T
fiyeram 2 1 .
(1) Options TE@M dF 9 Save tab 8
(2) Save as IEAFT TFH
(3) HW gt &l
(4) TR F { FE T

62. | A master document contains .....c...ccoueen. , each of which contains a pointer
to a file on a disk ?
(1) placeholders (2) subdocuments
(3) book marks (4) references
0% master FTEREA F ..ooeereereeeennne 2 &, o 7% e W e 3 & pointer &
g
(1) placeholders (2) subdocuments
(3) book marks (4) references

63. | Which would you choose to move selected text from one place to another ?
(1) Move and Paste (2) Copy and Paste
(3) Cut and Paste {4) Delete and Paste
F=1 § 4 selected text # % € & @A T€ move FA B fQ PH-AT T |
(1) Move and Paste (2) Copy and Paste
(3) Cutand Paste (4) Delete and Paste

CJDEOT-2012/SET-Y - €199
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64.

Which enables us to send the same letter to different persons ?
(1) macros '

(2) template

(3) mailmerge

(4) none
Frr & & @ & U3 Se-3FT APt B o @ [ PIA-ar g a9 g 7
1) ¥ "
(2) Tgoe
(3) et
(4) # @ =&
65. | Which key on the keyboard can be used to view slide show ?
(1) F1 (2) F2
(3) F5 (4) F10
FArE & Pea key ¥ 5417 slide show 3@ % ford far o1 woar & ?
1) F1 (2) F2
(3) ¥5 (4) F10
66. | In a certain code, ‘786" means ‘study very hard’ ‘958’ means ‘hard work

pays’ and ‘645’ means ‘study and work’. Which is the code for ‘very’ ?

() 5 (2) 6

3 7 4) 8

TF FE 7 786 # 74 B ‘@ A &’ 958 W wd B ‘B % W q4n 645 & w4 ¥ ‘=
g 3’ | A B oo w1 B R ?

1 5 (2) 6

(3) 7 (4) 8

CJDEOT-2012/SET-Y (20)
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67. | What % of a day is 2 hours ?
(1) 8% (2) 12%
(3) 4.16% (4) 8.33%
3t a2 oF R @ B i 2 2
(1) 8% (2) 12%
(3) 4.16% (4) 8.33%

68. | Choose the group of letters different from others.
(1) POCG (2) KLIZ
(3) BUDX (4) FQMV
¥ o qYE g o o= A e 2
(1) POCG (2) KLIZ
(3) BUDX " (4 FQMV

69. | Two tanks are of the same capacity. The dimensions of the first tank are

12 m x 8 m x 4m. The second tank is square with a depth of 6 m. Find the
side of the second tank.

(1) 4m (2) 6m

(3) 8m (4) 10m

3 T JEE & B 8 | gyw e e 12 1 x 8 1t x 4 # B 1 quw amm antae ¥
6 1 MU 2 | gaY qEE A O qqw |

(1) 44 (2) 6

(3) 84 (4) 10+

CJDEOT-2012/SET-Y (21)
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70. | Which alternative does fill up the blank ?

/a\

(1)

(3)

N/

(2)

(4)

PH-a1 ey R w= it ar & 7

¥

A

/m\

v

(D

(3)

N

v

(2)

(4)
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71. | Which animal figure is not adopted in the National Emblem of India ?
(1) Lion (2) Bull
(3) Elephant (4) Horse
I B U Red # e oy A sl A e for mn @ 7
1) N 2) W
(3) #d , (4) 9

72. | OnJune 1st, 2012 which Vikram Samvat is going on ?
(1) 2068 (2) 2069
(3) 2070 (4) 2012
99 1, 2012 1 H9-91 R d@aa 9 @1 8 ?
(1) 2068 (2) 2069
(3) 2070 (4) 2012

73. | Light travels from the Sun to the Earth approximately in ................
(1) 8.3 minute (2) 24 hours
(3) 364.4days (4) One light year
T4 A JE T TE T oo weee § UET STA B
(1) 8.3 e (2) 2442
(3) 364.4RF (4) o g9

74. | What is the normal human body temperature ?
(1) 36.9°C (2) 98.4°C
(3) 100°C (4) 50°C
G HFE T qoEe @ g 7
(1) 36.9°C (2) 984°C
(3) 100°C (4) 50°C
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75. | Which state among the following has the least number of members in
Vidhan Sabha ?
(1) Sikkim (2) Goa
(3) Mizoram (4) Manipur

frr & fpm o9 @ RY o § g8 39 el € 7

(1) o (2)
(3) e (4) w=fogT
76. | Select the antonym of the word “Replaceable” from the options given below
(1) Irreplacable
(2) Inreplaceable
(3) Irreplaceable
(4) Unreplaceable
77. | Select the correct antonym of the word “Measurable” from the options

given below
(1) Inmeasurable
(2) Immeasurable

(3) Unmeasurable

(4) None of the above
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78. | Select the option which is antonym of the word “Encryption”.
(1) Uncryption

(2) Description

(3) De-encryption

(4) Decryption

79. | Select the option with correct spelling of the word
(1) Beleaguer

(2) Beleagur

(3) Beleageur

(4) Beleagar

80. | Select the option with correct spelling of the word
(1) Chauffar (2) - Chauffer
(3) Chouffer (4) Chauffeur

81. | Name the Prime Minister of Russia
(1) Vladimir Putin (2) Leonid Tibilov
(3) Valentin Topov (4) Dmitry Medvedev

59 % 999 H=Il F AW g4I |

(1) T g (2) R R
(3) 3T g ' (4) @ AgRg
CJDEOT-2012/SET-Y (25)
Code-B
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90. | ¥ F 9= N TN B FIF T WA ¢ 1 IS I F TG Ho)
(1) == (2) Fafg=

(3) @z (4) AR

91. | @&t ard g faewea gy
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82. | Choose the smallest country among the following in area
(1) San Marino (2) Tuvalu
(3) Nauru (4) Monaco
Frer & & & 9aq ©1c 29 # g |
(1) = A (2) =g
(3) % (4) AF®

=

Excepting China and India, which country has the biggest population in
Asia?

84.

85.

(1) Japan (2) Bangladesh
(3) Indonesia - (4) Pakistan

g7 7 sa # Brget wREr § g 3 3 oede gaifvs @ 7
(1) s (2) iR

(3) FoMiEEn (4) wfFEH
Angkorwat temple complex is situated in ...............
(1) Indonesia (2) Cambodia

(3) Thailand (4) Malaysia
FHTRITER ARG THE wovverererenes 4 e 21

(1) F=HRm (2) F=e

(3) A (4) wfr

What is the capital of Qatar ?

(1) Doha (2) Muscat

(3) Kuwait (4) Manama

FAT I TS F 8 7

(1) = (2) 9T

(38) T (4) Fmr
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86.

H Ru Rt & & @@ ag et
(1) & 89 9 @ &1

(2) W= $9T i o@gd i 2
(8) itz # o Y F AT A1
(4) 2 87 T4 ®F TFH FL &M

87.

A1 v g Y 9 W A afest FAgaE o T e @ oF w9 3 e 1, gy
? 1 FRgw = F wifey |

B ofy Fmwed & R § agd are @9 8
(1) # o (2) FFd & e &
(3) g7 =W A B (4) #& e 7

88.

Frefefad T # JeFt 3@ T Ru T S § § 88 I A e

¥ el § 0P ga% F e O @ 2| A Fd F oF gan B @ 5T a9 ooy B
T8 F H BT 29 P AT T @Al 2| GES H AGS B P T8 G o T 2

IdF g § e w # v B

(1) W : (2) I=A

(3) s (4) wamEm
89. | & Y I R gy

T -

(1) geamer (2) =

3) FF= (4) RvEiEa
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90. | 1% oF w= F T P FF WY TKA & | LB T B GG BioC |
(1) =#R= (2) AR
(3) @zt (4) AR

91. | @& 3 g ey giHu
o -
(1) Al (2) =it
(3) g=h (4) =

92. | fFrefeiad v § & -1 92 AY& 2 7
(1) feg (2) Frieer
(3) = (4) wSifEa

93. | Fr=ifafea o= & & FF-a1 “oFa” 9= F qEEEE T 8 7
(1) F=EH (2) =
(3) =REm (4) gstr=E

94. | f=fifed g=l § @ “aeds” 9= % Ryl 9= & w1 Hivm |
(1) sF%d® | (2) Fromr
(3) Fredw ) (4) o
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95. | @@ ad e few giAw
T -
(1) == (2) 3
(3) = (4) =M

96. | The chart wizard term data series refers to :
(1) A chartlegend
(2) A collection of chart data makers
(3) Adatalabel
(4) A set of values you plot in a chart
Chart 2 term =1 fafts 1 Frst & @ e sifvom @
(1) us aré legend
(2) Chart data makers #1 #9%
(3) TF 2RI A&
(4) Values # @2 &t s =E # plot # §

97. | A typical worksheet has ............. number of columns
(1) 128 (2) 256
(3) 512 (4) 1024
% typical worksheet # ............. column 2 #1
(1) 128 (2) 256
(3) 512 (4) 1024
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98. | What symbol is used before a number to make a label ?

(1) “(quote)

(2) =(equal)

(3) _(underscore)

(4) ‘“(apostrophe)

frsr § @ @9 & symbol t% number # 3 @A @ & @ @t label & 94 |
(1) “(quote)

(2) =(equal)

(3) _(underscore)

(4) ‘“(apostrophe)

99.

Which elements of worksheet can be protected from accidental modification

(1) Contents : (2) Objects

| (3) Scenarios (4) All of above

Fr=1 # & worksheet  #I9-8 @@ a%%% modification & protect &3 o1 #%d ¥ :
(1) Contents (2) Objects

(3) Scenarios (4) 9 T 9491
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100.

Data can be arranged in a worksheet in a easy to understand manner

using
(1) auto formatting (2) applying styles
(3) changing fonts (4) all of above

Hrwel # worksheet ¥ gt adid & v & @ fbm zr0 aftya B o a%ar 2
(1) auto formatting (2) applying styles

(3) changing fonts (4) F9T I gt
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